In Summary

Key Idea

e The rules for order of operations with rationals are the same as with
integers:
» Do what is in brackets first.
» Multiply and divide from left to right.
» Add and subtract from left to right.

Checking
1. Which operation would you perform first in each situation?
a) 2.4 —[35+ (—29)] X (—5) Day | Share Value
b) (52— 1.4) + (—3) X (2.1) 1 +0.005
2. Share values went up and down over the course of a week as shown 2 —0.135
at right. What was the mean daily change? 3 o118
Practising 4 -0.12
5 +0.05

3. Which operation would you perform last in each situation?
a) 3.7[3.5 + (—2.9)] = [2.5 + (—-1.8)]
b) 8+ (—1.3) + (—6.8 — 3.4)
5 3.9
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4. Temperatures went up and down over the course of five days as follows:
—4.2°C,—-14°C, +1.9°C, +3.7°C, —1.8 °C
What was the mean daily change?

5. Multiple choice. What is the value of

[2.4 —5.7] X [-5.1 = (—1.8)] + 0.2?

A. 11.09 B. 1723 C. 17.83 D. 16.23
6. Multiple choice. What is the value of

—0.7 — 0.3+ (—0.15) X 0.2 + 2?
A. 04 B. 17 C —046 D. —1.6090909...

7. Mika calculated (-2) + (-%) + gl as —4% Is Mika correct? Explain.
8. Evaluate.

a) 3* 7y whenx =25and y = 4

b) 2x — %y when x = —lgandy = —%
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9. The temperature on Friday went up 3.1 °C from Thursday. After a
loss of —1.2 °C on Saturday, the temperature doubled on Sunday.
How did the temperature on Sunday compare to the temperature
on Thursday?

10. For which calculations would you not need to know the order of

operations rules?
4
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11. a) Create an expression, involving both positive and negative
rational numbers that are not integers, for which you would

°°‘V‘oo\\n

need to know the order of operations to calculate it correctly.
Explain why you would need to know the order of operation
rules for your expression.

b) Check to see if your calculator follows those rules for order of
operations when you enter rational numbers. How do you know?

12. During the last heat for the 800 m run at the Jeux de la Francophonie

. . . 1 . .
in Edmonton, Xavier gained 7 s over his nearest opponent during the

first 100 m. He then lost%

% s during the third 100 m, but gained % s during the fourth 100 m.

s during the second 100 m, lost a further

How much time will Xavier have to gain on his opponent during the
last 400 m to win the heat?

Closing

13. Why is it essential that the rules for order of operations for rational
numbers be the same as the order of operations for integers?
Extending

14. Create an expression involving rational numbers where you perform
an addition before you perform any multiplications or divisions.
Calculate the value of that expression.

15. Where would you add brackets in each expression to make it true?

a) 35+ 4+075+ (=8.1) = 1.9
b) —1.2+—3+1.5+1.5—%><13=—4

. 2
16. You subtract a rational number from 3 double the answer, and

then divide by —i. The result is 8. What was the rational number?
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